
For Technical Support: www.panduit.com/resources/install_maintain.asp
Page 1 of 2

INSTALLATION INSTRUCTIONS © Panduit Corp. 2014 V00029FJ

Cabinet Top Cable Routing System

Add-on Kit
Part Number(s): STH61"C", STH62"C",STH71"C", STH72"C", SNTH81"C", SNTH82"C"

Cabinet Top Cable Routing System Add-on Kit Installation

-Install Cabinet Top Cable Routing System Base on existing Top Cap using [2] M5 Torx screws (use T25 Torx bit) per side. 
 Note: For 600mm & 700mm installation, remove existing Top Cap screws leaving only [4] corner screws.
-Install [2] Vertical Walls on front and back of Cabinet Top Cable Routing System Base using [9] M5 Torx screws (use T25 Torx bit) per Wall
-Attach Front Fascia to front Vertical Wall by sliding fascia over studs in vertical wall and secure with [4] M5 Torx screws (use T25 Torx bit)
-Attach Rear Fascia to rear Vertical Wall by sliding fascia over studs in vertical wall and secure with [4] M5 Torx screws (use T25 Torx bit)

[10] M5 Torx Screws 
to be removed

Existing Top Cap

[5] M5 Torx Screws
(per side)

Cabinet Top 
Cable Routing 
System Base

Vertical Wall

Cabinet Top 
Cable Routing 
System Base

[2] M5 Torx Screws 
(per side)

600mm & 700mm
screw removal



E-mail:
techsupport@panduit.com

Phone:  
866-405-6654

For Instructions in Local Languages
and Technical Support:

www.panduit.com/resources/install_maintain.asp

Page 2 of 2

INSTALLATION INSTRUCTIONS © Panduit Corp. 2014 V00029FJ

www.panduit.com

Front Fascia

[4] M5 Torx Screws
(per side)

[4] M5 Torx Screws
(per side)

Rear Fascia


